7xE Al

Unix T2 I2fQ 9 A




82 U3

- 18R

- 2B A|EO| VT E

- 3 A4 EL}7|

C 4% A1 7| K

L SHAIDY WY

« 6 sigaction t=0| =&

- 7R YEAIDE

- 82 7|EF Al E M| e

e http://lily.mmu.ac.kr/lecture/13u2/ch07.pdf
© AO| LIS L8 YHEA| man2 2 EOIS A

o _-—
« UNIX, LINUX S A|AEIOFCHXHO| 7} S 4 Q128 HIE A
Q14|



http://lily.mmu.ac.kr/lecture/13u2/ch07.pdf
http://lily.mmu.ac.kr/lecture/13u2/ch07.pdf
http://lily.mmu.ac.kr/lecture/13u2/ch07.pdf

/|2 25 (1)

* [O X 7-11~ [Gl| K| 7-6] (£ 10)
+ A 7H 2 (2F 0] %)

24 01 (0,)

Ofl [ 7-1 (10) 0
Ofl [ 7-2 (10) 0
0

Ol %l 7-6 (10) X




/|2 25 (2)

* [O X 7-71~ [Of| X 7-13] (& 108)
+ A 7H 2 (2F 0] %)

24012 (0.X

Ofl [ 7-7 (10) 0
Ofl X[ 7-8 (10) 0
0

Of| Al 7-13 (10) X




SSUrA| #1 (1)

- HiA : 1000H

- FEIZEMAE BN HRE SO
ALE X2 2 F 28 ol ai4| 24 2 0jA
= LI &= YLt (SIGUSRL) (R E F==
t.':*EE S Al0| &= &7 xwpq SIGUSR1=
HelstCiE2 A|lage

2FF
o uf
=

SIGUSR1

Al)
o %2
SO A
d

¢ x|')KI J"'Ek”ﬁ:: ZIS_" = %
A ZFOCE (YT 22| & A|&SHH Z4]0] g5
QtM | 7] M7IHK| SIGALARMS K| |6,_ (= =S
Aaes 25 EA) 2SN 5iGUSR1

« Y™ Z2|A|ZHO] XL H(alarm O] &) SAI0|
QIMEE|, 0|8 BH T2 N AOfAH LaICt
(SIGUSR1)

- Ho onZMHAE %MOI Y E[H &H o
L2ICH (HAX| &5

| g AFEHOI A SIGINTS e A2
BAIX| S8 0 A4S BM 27|10 88




Of0

THA| #1 (2)

SHoIE THy

o
-

o|:|-

0o

oA 2 0{£ (0,X) | H|1
L(RR) XA Z2 M2 8 A exec Y 25 07
2.(B2) O =3 U A EXAZRE Y ©Y)

3.(82R) T2 27| A Ctrl-C 22 [ A SEHMAIX| S / XA Z2 A B2
/ XAl BE) Ol 8
4 (HQ) TR gt 5 AdH A|OE M2 &H|st = XA 0 A SIGUSRL E LY 7|

D) Z2|7} A ZHEl S CHE A|OE B4

—

5, (&
(RFAD Al M| Z|

6.

7. (Kh4]) SIGUSRL 2tS M 23 A|DE XM2| TH[S = Z2| AE (=HHO| HA|X]
=8)

8. (Xf*') SIGALARM et= [ff 2t All‘é X2l =H|eh £ $Eoﬂ71l =

9. ( =

*IXI 23—1




SRR

. X O
T
°* main

o forkE® 22 O0|H
© SIGINTE0{QH XA = ZRGIE =
ELER
*  while &
B LVETE
« ZF20| £0{2H signal
I'I E|-6-|.AE E=

aOT =2 o=
* SIGUSR1ISHEEH &
© SIGINT RAISIEZE A
+  SIGUSR10| 2 77} X|
CH 7| (pause)

« fork & X}AlO|H
¢ execE TZ]TH Z K| HHY|

+ SIGUSR1 3=
- SIGUSR10| SE0{Q ™ Zin} ==
- SIGINTHEZ 8
« SIGINTSHE Y
+ RHAOf| A SIGINT T &
© wait 2 HA|X| 2

1(3)

C|
main
¢ signal ME[&+E &5
 SIGUSRIIER S=2
- BRI Ot A Al 7]

SIGUSR1 3H S 2
SIGALRM SH=2] &
SIGINT ZA|SIEZE M H
Z2|A| 20 0] alarm =

SIGALRM 3H =24
* SIGUSR1 £ L} 7|
© SIGINTS{2SIEE MX




S S| #2

- H{A : 1000&

. 82412 A2 X
Shet maf AIRLER O
<O O @ HFL AFS}O 102 2 2HW =&
' =2 A C - O o 1
- Z2|P AIRE S0 228
A% wot Xal5 &+ AR S
ZHdorAl . 30% B 3HT F2
. SE
¢ SIGALARMZ Bt7| MO alarm(0) =
St= 8% T2 AlZHE EH)O
HI S} 20% = SIGALARM =2l
* Linked list2 0|23} 2+ Q2| 9|
=S AlIES 2t




